(Ewing 600)

We Put M Hrﬁ'.

Safety Handles

L Kit Includes:

1 2 Safety Handles
4 1-3/4” Screws
4 1/4” Washers

1 Plan

Washer %
1-3/4” .
Screw

Installation Instructions:

1. Position Safety Handles in
each ladder or slide opening.
The bottom hole of the safety
handle should be 8” from the
top of the deck.

- 2. Mark the hole locations and
e ‘ drill a pilot hole at each location
using a 1/8” drill bit.

3. Attach safety handles to the

W unit using two 1-3/4” screws

and 1/4” washers per handle
» (see Fig. 1).

FIG. 1 /

© Playcore company 2005 Printed in U.S.A. LA 5416




